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1) Which of the following is the smallest?

(a) sin 72◦ (b) cos 2◦ (c) sin 10◦ (d) cos 89◦

2) In triangle ABC , ∠A = 60◦, BC = 12cm . The radius of the circumcircle is

(a) 4
√
3 (b) 3

√
3 (c) 5

√
3 (d) 4

√
2

3) In triangle ABC ,∠A = 60◦, AB = 10, AC = 12

a) What is the latitude CD?

b) Find the area of triangle ABC?

4) In the figure ∠B = 140◦, AC = 12cm

a) What is the measure of ∠P ?

b) What is the radius of the circle?

[sin 40 = 0.64, cos 40 = .76, tan 40 = .83]



2 5) In the figure ∠A = 120◦, AB = 6 , AC = 10

a) What is the altitude from C to AB?

b) Calculate the area of triangle ABC?

6) sinA+ sinB + sinC = 3

a) What is A,B,C?

b) Find sin3A+ sin3B + sin3C

7) In the figure a, b, c are the sides opposite to A,B and C , AP is the altitude to BC

a) Write AP in terms of c and sinB

b) Write the expression for the area of triangle ABC

c) If a = 12, c = 6 and ∠B = 60◦ then the area of triangle ABC

8) In triangle ABC , a, b, c are the sides opposite to the angles A,B and C and R is the radius of the
circumcircle.

a) Prove that a
sinA = 2R?

b) Establish the relation the area of the circle A = abc
4R ?

9) The angle between the base edge and lateral edge of a square pyramid is 40◦ and base perimeter is
48cm .

a) What is the length of base edge?

b) Find slant height?

c) Calculate the surface area of the pyramid

[sin 40 = 0.64, cos 40 = .76, tan 40 = .83]

10) When the angle measure increases from 0 to 90◦ its sin measure increases from 0 to 1.
The maximum value of sin measure is 1.
When the angle measure increases from 0 to 90◦ its cos measuredecreases from 1 to 0.
The maximum value of cos measure is 1
If the sum of two acute angles is 90◦ then the sin of one angle is equal to cos of other angle.



3a) If sinA = cosA then what is A?
b) If sinA = cosB then what is A+B?
c) What is cos 1◦ × cos2◦ × · · · cos 90◦?
d) If sinA+ sinB + sinC = 3 then what is cosA+ cosB + cosC?

Answers
1) cos 89◦

2) 4
√
3

3) a) 6
√
3

b) 1
2 × 10× 6

√
3 = 30

√
3

4) a) 180− 140 = 40◦

b) sin 40◦ = 12
AP

.64 = 12
AP , AP = 18.75, r = 9.37cm

5) a) ∠CAP = 180− 120 = 60◦

b) sin 60 = PC
10

PC = 5
√
3

c) Area= 1
2 × 6× 5

√
3 = 15

√
3sq.cm

6) a) Maximum sin value is 1. In this case sin cannot be less than 1. That is sinA = 1, sinB =
1, sinC = 1
A = B = C = 90◦

b) 3

7) a) sinC = AP
c

AP = c sinB

b) Area = 1
2 ×BC ×AP

A = 1
2 × a× c sinB

c) Area = 1
2 × 12× 6 sin 60 = 18

√
3

a) 6
√
3

b) 18

c) 54 + 18
√
3

8) a) Draw the diameter AP and join PC . Triangle BPC is a right triangle.∠A = P
sinA = a

BP = a
2R . Where R is the radius of circumcircle.

2R = a
sinA

b) Area = 1
2bc sinA = 1

2bc
a
2R = abc

4R

9) a) a = 12

b) e, l, a2 form a right triangle.
tan 40 = l

6 , l = 4.98

c) Surface area = a2 + 2al = 261.6 sq.cm

10) a) 45◦

b) 90◦

c) 0

d) 0
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1) വശം6െസʾമീѯർ ആയ സമ̧ജɃിേകാണȮിെʾ ചരിΖയരം എɃ ?

(a) 3
√
3cm (b) 2

√
3cm (c) 5

√
3cm (d)

√
2cm

2) ഒͩ ചȪരȮിെʾ വികർȤം 12െസ.മീ , വികർȤം നീളം ńടിയ വശΖമായി 30◦ േകാൺͪപീകരിŉʮ.
മേѯ വശȮിെʾ നീളെമɃ?

(a) 7 (b) 6 (c) 5 (d) 4

3) ചിɃȮിൽ OΘȮേകʣമാണ് .∠ACB = 30◦

a) Ƀിേകാണം OABഏത് തരം Ƀിേകാണമാണ് ?

b) ΘȮȮെʾആരം 12െസʾമീѯർ ആയാൽ Ƀിേകാണം OAB͆െട ഉʭതി എɃ?

4) ചിɃȮിൽ ∠A = 60◦, BC = 10cm

a) BDഎʭ വĿാസΖം DC ͆ം വരŉക

b) ആരം എɃ?



2 5) ചിɃȮിൽ O ആധാരബിʠΖം ABCD സമചȪരΖമാണ് .A(3, 0) and B(3, 3)

a) േകാൺ AODഎɃ?

b) OD͆െട നീളെമɃ?

6) ഒͩ ΘȮЅപിക͆െട ഉയരΖം ചരിΖയരΖം ത̼ിͬч േകാൺ 30◦ , വĿാസം 10െസ.മീ

a) ചരിΖയരം എɃ?

b) ഉʭതി എɃ?

7) ചിɃȮിൽ AP എʭത് BC്͍ ലംബമാണ് , ∠ACD = 150◦,∠BAP = 60◦

a) AP ,ABഎʭീ നീളƴൾ കണňാŉക.

b) േകാൺ ACPഎɃ?

c) PC͆െട നീളെമɃ?

d) Ƀിേകാണം ABC͆െട പരːളവ് എɃ?

8) Ƀിേകാണം ABCയിൽ , AD എʭ വര BC͍ ലംബമാണ് , AB = 12cm

a) ADഎɃ?

b) ACഎɃ?

c) BCഎɃ?

d) Ƀിേകാണം ABC͆െട പരːളവ് കണňാŉക?



39) ABCD എʭ ചȪരȮിെʾ വികർȤം 12െസ.മീ , ∠BAC = 30◦

a) വശം AB͆െട നീളെമɃ?

b) BC͆െട നീളെമɃ?

c) ചȪരȮിെʾ പരːളവ് കണňാŉക

10) ABCD ഒͩ ചȪർ̧ജം .AC = CD = AD,∠BAD = 120◦, ∠B = 90◦ ,D യിൽ നിʮം AC
യിേലŉч ലംബം 12െ◌സ.മീ .

a) ACഎɃ?

b) Ƀിേകാണം ABC͆െട േകാȐകൾ എɃ ?

c) AB ,BCഎʭിവ͆െട നീളെമɃ

d) Ƀിേകാണം ABC͆െട പരːളവ് എɃ?.

e) Ƀിേകാണം ADC͆െട പരːളവ് എɃ.

f) ABCD͆െട പരːളവ് എɃ

Answers
1) 3

√
3

2) 6

3) a) സമ̧ജɃിേകാണം .

b) 6
√
3

4) a) ചിɃം വരŉക

b) 10√
3

5) a) 45◦

b) 3
√
2

6) a) 10

b) 10
√
3

7) a) 8, 16

b) 45− 45− 90Ƀിേകാണം



4 c) 8

d) 32 + 32
√
3

8) a) 6
√
3

b) 18

c) 54 + 18
√
3

9) a) 6
√
3

b) 6

c) 36
√
3

10) a) DE = 12, AE = 12√
3

AC = 2× 12
sqrt3 = 24√

3

b) ∠B = 90◦,∠A = 120− 60 = 60◦, ∠C = 30◦

c) AB = 12√
3
, BC = 12.

d) പരːളവ് ABC = 1
2 × 12× 12√

3
= 72√

3

e) പരːളവ് ADC = 1
2AC ×DE = 144√

3

f) പരːളവ് ABCD= 72√
3
+ 144√

3
= 216√

3

1
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1) Which of the following is the smallest?

(a) sin 72◦ (b) cos 2◦ (c) sin 10◦ (d) cos 89◦

2) In triangle ABC , ∠A = 60◦, BC = 12cm . The radius of the circumcircle is

(a) 4
√
3 (b) 3

√
3 (c) 5

√
3 (d) 4

√
2

3) In triangle ABC ,∠A = 60◦, AB = 10, AC = 12

a) What is the latitude CD?

b) Find the area of triangle ABC?

4) In the figure ∠B = 140◦, AC = 12cm

a) What is the measure of ∠P ?

b) What is the radius of the circle?

[sin 40 = 0.64, cos 40 = .76, tan 40 = .83]



2 5) In the figure ∠A = 120◦, AB = 6 , AC = 10

a) What is the altitude from C to AB?

b) Calculate the area of triangle ABC?

6) sinA+ sinB + sinC = 3

a) What is A,B,C?

b) Find sin3A+ sin3B + sin3C

7) In the figure a, b, c are the sides opposite to A,B and C , AP is the altitude to BC

a) Write AP in terms of c and sinB

b) Write the expression for the area of triangle ABC

c) If a = 12, c = 6 and ∠B = 60◦ then the area of triangle ABC

8) In triangle ABC , a, b, c are the sides opposite to the angles A,B and C and R is the radius of the
circumcircle.

a) Prove that a
sinA = 2R?

b) Establish the relation the area of the circle A = abc
4R ?

9) The angle between the base edge and lateral edge of a square pyramid is 40◦ and base perimeter is
48cm .

a) What is the length of base edge?

b) Find slant height?

c) Calculate the surface area of the pyramid

[sin 40 = 0.64, cos 40 = .76, tan 40 = .83]

10) When the angle measure increases from 0 to 90◦ its sin measure increases from 0 to 1.
The maximum value of sin measure is 1.
When the angle measure increases from 0 to 90◦ its cos measuredecreases from 1 to 0.
The maximum value of cos measure is 1
If the sum of two acute angles is 90◦ then the sin of one angle is equal to cos of other angle.



3a) If sinA = cosA then what is A?
b) If sinA = cosB then what is A+B?
c) What is cos 1◦ × cos2◦ × · · · cos 90◦?
d) If sinA+ sinB + sinC = 3 then what is cosA+ cosB + cosC?

Answers
1) cos 89◦

2) 4
√
3

3) a) 6
√
3

b) 1
2 × 10× 6

√
3 = 30

√
3

4) a) 180− 140 = 40◦

b) sin 40◦ = 12
AP

.64 = 12
AP , AP = 18.75, r = 9.37cm

5) a) ∠CAP = 180− 120 = 60◦

b) sin 60 = PC
10

PC = 5
√
3

c) Area= 1
2 × 6× 5

√
3 = 15

√
3sq.cm

6) a) Maximum sin value is 1. In this case sin cannot be less than 1. That is sinA = 1, sinB =
1, sinC = 1
A = B = C = 90◦

b) 3

7) a) sinC = AP
c

AP = c sinB

b) Area = 1
2 ×BC ×AP

A = 1
2 × a× c sinB

c) Area = 1
2 × 12× 6 sin 60 = 18

√
3

a) 6
√
3

b) 18

c) 54 + 18
√
3

8) a) Draw the diameter AP and join PC . Triangle BPC is a right triangle.∠A = P
sinA = a

BP = a
2R . Where R is the radius of circumcircle.

2R = a
sinA

b) Area = 1
2bc sinA = 1

2bc
a
2R = abc

4R

9) a) a = 12

b) e, l, a2 form a right triangle.
tan 40 = l

6 , l = 4.98

c) Surface area = a2 + 2al = 261.6 sq.cm

10) a) 45◦

b) 90◦

c) 0

d) 0
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1) താെഴ െകാǮȮിരി്ŉʭതിൽ ഏѯΖം െചѭത് ഏത് ?

(a) sin 72◦ (b) cos 2◦ (c) sin 10◦ (d) cos 89◦

2) Ƀിേകാണം ABCയിൽ , ∠A = 60◦, BC = 12cm . പരിΘȮȮിെʾആരം എɃ?

(a) 4
√
3 (b) 3

√
3 (c) 5

√
3 (d) 4

√
2

3) Ƀിേകാണം ABCയിൽ ,∠A = 60◦, AB = 10, AC = 12

a) ഉʭതി CDഎɃ?

b) Ƀിേകാണം ABC͆െട പരːളവ് എɃ?

4) Ƀിേകാണം ABCയിൽ ∠B = 140◦, AC = 12cm

a) ∠PഎɃ?

b) ആരം എɃ?

[sin 40 = 0.64, cos 40 = .76, tan 40 = .83]



2 5) ചിɃȮിൽ ∠A = 120◦, AB = 6 , AC = 10

a) C യിൽ നിʮം ABയിേലŉч ഉʭതി എɃ?
b) Ƀിേകാണം ABC͆െട പരːളവ് എɃ?

6) sinA+ sinB + sinC = 3

a) A,B,CഎɃ?
b) sin3A+ sin3B + sin3CഎɃ?

7) ചിɃȮിൽ a, b, cഎʭീ വശƴൾ A,B , C്͍ എതിെരയാണ് , AP എʭത് BCേലŉч ലംബമാണ്

a) AP എʭ ഉʭതി c യിͬം sinBയിͬം എъȪക
b) Ƀിേകാണം ABC͆െട പരːളവ് എɃ?
c) a = 12, c = 6 , ∠B = 60◦ ആയാൽ Ƀിേകാണം ABC͆െട പരːളവ് എɃ?

8) Ƀിേകാണം ABCയിൽ , a, b, c എʭിവ A,B , C ്͍ എതിെര͆ч വശƴളാണ് , R പരിΘȮȮിെʾ
ആരം .

a) a
sinA = 2Rഎʭ് െതളിയിŉക?

b) പരːളവ് A = abc
4Rഎʭ് െതളിയിŉക?

9) സമചȪരЇപിക͆െട പാദവŉം പാർശłവŉം ത̼ിͬч േകാൺ 40◦ , പാദƷѯളവ് 48cm .

a) പാദവňിെʾ നീളെമɃ?
b) ചരിΖയരം എɃ?
c) ഉപരിതലപരːളവ് എɃ?

[sin 40 = 0.64, cos 40 = .76, tan 40 = .83]

10) േകാണളവ് 0Ȯിൽ നി്ʮം 90◦ േല്͍ ഉയͩേ̵ാൾ sinഅളവ് 0Ȯിൽ നി്ʮം 1േലň് ഉയͩʮ.
ഏѯΖം ńടിയ sinഅളവ് 1ആണ് .
േകാണളവ് 0Ȯിൽ നിʮം 90◦ ഉയͩേ̵ാൾ cosഅളവ് 1Ȯിൽ നിʮം 0േലň് താъʮ.
cosഅളവ് ഏѯΖം ńടിയത് 1
രȒ് നŁനേകാȐകхെട Ȫക 90◦ ആയാൽ ഒͩ േകാണിെʾ sinഅളവ് മേѯ േകാണിെʾ cosഅഴവാണ് .

a) sinA = cosAആയാൽ AഎɃ?



3b) sinA = cosB ആയാൽ A+BഎɃ?
c) is cos 1◦ × cos2◦ × · · · cos 90◦എɃ?
d) sinA+ sinB + sinC = 3ആയാൽ cosA+ cosB + cosCഎɃ?

Answers
1) cos 89◦

2) 4
√
3

3) a) 6
√
3

b) 1
2 × 10× 6

√
3 = 30

√
3

4) a) 180− 140 = 40◦

b) sin 40◦ = 12
AP

.64 = 12
AP , AP = 18.75, r = 9.37cm

5) a) ∠CAP = 180− 120 = 60◦

b) sin 60 = PC
10

PC = 5
√
3

c) Area= 1
2 × 6× 5

√
3 = 15

√
3sq.cm

6) a) ഏѯΖം ńടി. sinവില 1. sin ഈസാഹചരĿȮിൽ 1േനാňാൾ Ńറ͆ʭിΓ . sinA = 1, sinB =
1, sinC = 1
A = B = C = 90◦

b) 3

7) a) sinC = AP
c

AP = c sinB

b) Area = 1
2 ×BC ×AP

A = 1
2 × a× c sinB

c) Area = 1
2 × 12× 6 sin 60 = 18

√
3

a) 6
√
3

b) 18

c) 54 + 18
√
3

8) a) Draw the diameter AP and join PC . Triangle BPC is a right triangle.∠A = P
sinA = a

BP = a
2R . R പരിΘȮȮിെʾആരം .

2R = a
sinA

b) പരːളവ് = 1
2bc sinA = 1

2bc
a
2R = abc

4R

9) a) a = 12

b) e, l, a2 form a right triangle.
tan 40 = l

6 , l = 4.98

c) ഉപരിതലപരːളവ് = a2 + 2al = 261.6 sq.cm

10) a) 45◦

b) 90◦

c) 0

d) 0

1
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1) tanA = 0.75ആയാൽ sinA

(a) 3
5 (b) 4

5 (c) 1
3 (d) 1

2

2) A യിൽ നി്ʭ് Cഎʭബിʠവിേലň് േനാŉʮ. കീേяാണിെʾ അളവ് എɃ?

(a) 60◦ (b) 40◦ (c) 30◦ (d) 45◦

3) ഒͩ െകǲിടȮിെʾ Ʒവǲിൽ നിʮം 40മീѯർ അകെലനിʮം േനാŉേ̵ാൾ െകǲിടȮിെʾ ̮കളѯം 30◦
േമൽേňാണിൽ കȓ. അേതЍാനȯനിʮം േനാŉേ̵ാൾ െകǲിടȮിന് ̮കളിൽЍാപിƹിരിŉʭ
ഒͩ വാǲർ ടാưിെʾ ̮കളѯം 42◦േമൽേňാണിൽ കാണാം.

a) ഈആശയം വĿŘമാŉʭ ചിɃം വരŉക

b) െകǲിടȮിെʾ ഉയരം കണňാŉക

c) വാǲർ ടാưിെʾ ഉയരം കണňാŉക

4) ˁഴ͆െടകരയിൽനിʮം േനാŉʭഒരാൾ മѭകരയിൽനിൽŉʭമരȮിെʾ ̮കളѯം 50◦ േമൽേňാണിൽ
കാȐʮ. ˁഴേയാരȯനിʮം 20 മീѯർˁറേകാǲ് ഇറƴിനിʮം േനാŉേ̵ാൾ മരȮിെʾ ̮കളѯം 60◦േമൽേňാണിൽ
കാȐʮ.

a) ഏകേദശചിɃം വരŉക

b) ˁഴ͆െട വീതി കണňാŉക

c) മരȮിെʾ ഉയരം കണňാŉക

5) 12മീѯർ ഉയര̮чഒͩമരംƞൗȒിൽനിʮംŃറƹ് ഉയരȮിൽവƹ് ഒടിǫ് ̮കളѯംƞൗȒിൽെതാǳനിൽŉʮ.
ഒടിǬവീണ ഭാഗം ƞൗȓമായി 35◦േകാൺ ͪപീകിŉʮ.

a) ഏകേദശചിɃം വരŉക

b) എɃ ഉയരȮിൽ െവƹാണ് ഒടി͆ʭത്

c) മരȮിെʾ ̮കളѯം Ʒവǲിൽ നിʭ് എɃഅകെലയാണ് ƞൗȒിൽ െതാǮʭത് ?



2 6) ϮരĿൻകാണെːǮʭ േമൽേňാൺ 45◦യിൽനിʮം30◦യിേല്͍ മാѭേ̵ാൾ ഒͩ െകǲിടȮിെʾനിഴലിന്
10മീѯർ നീളം ńǮʮ.

a) ഈആശയം വĿŘമാŉʭഏകേദശചിɃം വരŉക
b) െകǲിടȮിെʾ ഉയരം കണňാŉക
7) ഉയരം ńടിയȪം ഉയരം ŃറǫȪമായ രȒ് െകǲിടƴൾനിരːായ ഒͩƞൗȒിൽനിൽŉʮ.ഉയരം
ńടിയ െകǲിടȮിെʾƷവǲിൽനിʮം േനാŉേ̵ാൾഉയരംŃറǫെകǲിടȮിെʾ ̮കളѯം 30◦േമൽേňാണിൽ
കാȐʮ.
ഉയരം Ńറǫ െകǲിടȮിെʾ Ʒവǲിൽ നിʭ് േനാŉേ̵ാൾ ഉയരം ńടിയ െകǲിടȮിെʾ ̮കളѯം
60◦േമൽേňാണിൽ കാȐʮ. വലിയ െകǲȮിന് 50മീѯർ ഉയര̮Ȓ് .
a) ഏകേദശചിɃം വരŉക
b) െകǲിടƴൾ ത̼ിͬчഅകലെമɃ?
c) െചറിയ െകǲിടȮിെʾ ഉയരെമɃ?

8) രȒ് െകǲിടƴൾň്ഇടയിͬчഅകലം100മീѯറാണ്.ഒʭിെʾ ഉയരം മേѯ െകǲിടȮിെʾഉയരȮിെʾ
രȒ് മടƴാണ് .െകǲിടƴൾňിടയിെല ഒͩЍാനȯനിʮം േനാŉേ̵ാൾ ̮കളѯം 60◦േമൽേňാണിͬം
30◦േമൽേňാണിͬം കാȐʮ.
a) ഏകേദശചിɃം വരŉക
b) േനാŉʭЍാനം വലിയ െകǲിടȮിൽ നിʮം എɃഅകെലയാണ് ?
c) രȒ് െകǲിടƴхെട͆ം ഉയരം കണňാŉക

9) 30മീѯർ അകെല͆ч ഒͩ െകǲിടȮിെʾ Ʒവǲിൽ നിʮം Ńറƹകെല നിʮം േനാŉʭ ഒͩ Ńǲി
െകǲിടȮിെʾ ̮കളѯം 30◦േമൽേňാണിൽ കാȐʮ. െകǲിടȮിന് അǮേȮ്͍ Ńറƺɦരം നീƴി
നിʭ് േനാŉേ̵ാൾ ̮കളѯം 60◦േമൽേňാണിൽ കാȐʮ.
a) ഈആശയം വĿŘമാŉʭ ചിɃം വരŉക
b) െകǲിടȮിെʾ Ʒവǲിൽ നിʮം രȒാമെȮЍാനേȮ͎чഅകലെമɃ?
c) േനാŉʭ രȒ്Ѝാനƴхം ത̼ിͬчഅകലെമɃ?
d) െകǲിടȮിെʾ Ʒവǲിൽ നിʮം ആദĿം േനാňിയЍാനേȮ͎чഅകലെമɃ?

10) നിരːായ ƞൗȒിന് സമാʒരമായി 88.2മീѯർ ഉയരȮിൽ നീƵʭ ഒͩ ബͭൺ ഒͩ ˗േതĿക
Ѝാനȯനിʮം േനാŉേ̵ാൾ 60◦േമൽേňാണിൽകാȐʮ.Ńറƺസമയംകഴി͆േ̵ാൾബͭൺ40◦േമൽേňാണിൽ
കാȐʮ.
a) ഏകേദശചിɃം വരŉക
b) ബͭൺസǠരിƹ ɦരം കണňാŉക

Answers
1) 3

5

2) 4
√
3

3) a) Diagram

b) In triangle ABD we have tan 45◦ = BD
AB

1 = h+h1
40 , h+ h1 = 40

tan 30◦ = BC
AB ,

1√
3
= h

40

h = 40√
3
= 23.1m

Height of the tower 23.1m



3c) 23.1 + h1 = 40, h1 = 40− 23.1 = 16.9metre.

4) a) ചിɃം

b) tan 50◦ = BC
AB , tan 30

◦ = BC
BD

1.19 = h
x ,

1√
3
= h

x+20

h = 1.19x, h = x+20√
3

1.19x = x+20√
3

1.19×
√
3x = x+ 20, 1.19× 1.73x = x+ 20, x = 19.05m

Width of the river 19.05metre

c) When x = 19.05, h = 1.19x = 1.19× 19.05 = 22.67metre.

5) a) ചിɃം

b) sin 60◦ = AC
DC√

3
2 = x

12−x

12
√
3−

√
3x = 2x, 12

√
3 = (2 +

√
3)x

x = 24
√
3− 36 = 5.56metre.

c) tan 60◦ = x
DA√

3 = x
DA , 1.73 = 5.56

DA
DA = 5.56

1.73 = 3.2m

6) a) ചിɃം

b) tan 45 = AB
AC , 1 = h

x , h = x

tan 30 = 1√
3
= h

x+10

x+ 10 =
√
3h, h = 13.65metre.



4

7) a) Diagram

b) tan 60◦ = 50
x ,

√
3 = 50

x
x = 50√

3
= 50

1.73 = 28.9m
The distance between the buildings = 28.9m

c) tan 30 = h
x ,

1√
3
= h

28.9 ,
√
3h = 28.9, h = 28.9

1.73 = 16.7m

8) a) ചിɃം

b) Let AC = h and BD = 2h
tan 30 = h

100−x , 100− x =
√
3h

tan 60 = 2h
x ,

√
3x = 2h, h =

√
3x
2

100− x =
√
3h, 100− x =

√
3×

√
3x

2 = 3x
2

200− 2x = 3x, 5x = 200, x = 40m.

c) h =
√
3x
2 =

√
3×40
2 = 20

√
3m

Height of the small building is 20
√
3m and height of the tall building is 40

√
3m

9) a) Diagram

b) In △ABP ,tan 60◦ = 30
y ,

√
3 = 30

y , y = 30√
3
= 10

√
3m

The second point is at the distance 10× 1.732 = 17.32m away from the building.

c) tan 30 = 30
x+y

1√
3
= 30

x+y , 30
√
3 = x+ y = x+ 17.3x = 30

√
3− 17.3 = 34.66m

The distance between the points is 34.66m

d) അകലം x+ y = 30
√
3 = 51.96m

10) a) ചിɃം



5

b) In △PAB, tan 60◦ = 88.2
PA , PA = 88.2

1.73 = 50.98m
tan 40 = 88.2

PC , PC = 88.2
0.83 = 106.2m

ബͭൺസǠരിƹɦരം 106.2− 50.98 = 55.2metre.

1
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Score 25
Time −−

1) sinA = 0.8.What is cosA?

(a) 3
5 (b) 4

5 (c) 2
3 (d) 1

2

2) What is the altitude if the equilateral triangle of side 10cm ?

(a) 10
√
3 (b) 5

√
3 (c) 3

√
3 (d) 7

√
3

3) A quadrilateral is colouded inside an equilateral triangle of side 12cm .The sides of the equilateral
triangles are divided into three parts by dots.

a) What is the area of △QRC?

b) What is the area of △PBS?

c) What is the area of △APQ?

d)  Calculate the area of the coloured quadilateral.

4) Ois the centre of a circle of radius 4cm. ∠PAB = 20◦

a) What is the length of the side PB in triangle APB?



2 b) What is the length of the side PA?

c) Calculate the area of △PAB

5) A man sees a boat approaching the shore at the angle of depression 30◦ from the top of a light house
. After 6 seconds the angle of depression becomes 60◦.

a) Draw a rough diagram

b) How long will the boat takes to reach the shore .

c) If the speed of the boat is 25kilometre per hour, what is the distance from the shore to the second
point of observation.

6) A man sees the top of a tower at angle of elevation 40◦ from the top of a building of height 15metre.
He sees the top of the tower at the angle 70◦ from the foot of the building.

a) Draw a rough diagram .

b) Calculate the height of the tower.

c) What is the distance between tower and building?

7) A man sees the top of a light house of height 100m at the angle of elevation 60◦. After 2 minutes the
angle becomes 45◦.

a) Draw a rough diagram.

b) Calculate the distance between the positions of obaservation.

c) Calculate the speed of the boat.

8) In the figure AB = BC = 12cm , ∠B = 120◦,∠ACD = 45◦, CD = 8cm

a) What is the length of AC?

b) What are the altitudes from B and D to AC

c) Calculate the area of ABCD.

9) In the figure AB is the diametre of the seimicircle. PC is perpendicular to AB.
If BC = 12cm , ∠PCB = 30◦then

a) Find PBand PC

b) What is the length of AP

c) What is the radius of the semicircle.



3Answers
1) 3

5

2) 5
√
3

3) a) △QRC is an equilateral triangle of side 4cm.Altitude 2
√
3cm. Area A1 = 1

2 × 4 × 2
√
3 =

4
√
3sq.cm

b) △PBS has two sides 8cm and 4cm, included angle 60◦.This is a 30◦ − 60◦ − 90◦ triangle.
PS = 4

√
3cm Area A2 =

1
2 × 4× 4

√
3 = 8

√
3sq.cm

c) △APQ is a 30◦ − 60◦ − 90◦ triangle. A3 =
1
2 × 4× 4

√
3 = 8

√
3 sq.cm

d) Altitude of △ABC is 6
√
3cm , Area 1

2 × 12× 6
√
3 = 36

√
3 sq.cm

Area of the shaded quadrilateral is 36
√
3− (8

√
3 + 8

√
3 + 4

√
3 = 16

√
3 sq.cm

4) a) AB is the diametre of the circle.∠APB = 90◦.
sin 20◦ = PB

AB = PB
8

PB = 8× 0.34 = 2.72cm

b) cos 20◦ = PA
8

PA = 8× 0.93 = 7.44cm

c) Area = 1
2 × PA× PB = 10.11 sq.cm

5) a) Diagram

b) △ABC is a 30◦ − 60◦ − 90◦ triangle.IF AB = h,AC =
√
3h

△ABD is a 30◦ − 60◦ − 90◦ triangle.AD = h√
3

CD = AC −AD =
√
3h− h√

3
= 2h√

3
AD : CD = 1 : 2
The boat takes 6 minutes to reach C to D.So the boat takes 3 minutes to reach he shore from D

c) If the speed 25 km per hour, , CD = speed × time . That is CD = 25× 6
60 = 2.5km.

The diatance from A to D is 1.25km

6) a) Diagram

b) Let AC = y ,DE = x
tan 40◦ = x

y



4 0.83 = x
y , x = 0.83y

tan 70 = x+15
y , 2.7 = x+15

y = 0.83y+15
y

2.7y = 0.83y + 15, 2.7y − 0.83y = 15, 1.8y = 15, y = 8.02m,x = 0.83y = 6.65m. Height
of the tower = 6.65 + 15 = 21.65m

c) Distance = 8.02m

7) a) Diagram

b) △ABD is a 45◦ − 45◦ − 90◦ triangle. AD = 100m
△ABC is a 30◦ − 60◦ = 90◦ triangle. AC = 100√

3
= 57.80m

CD = 100− 57.80 = 42.2m
c) Speed = distance ÷ time = 42.2÷ 2 = 21.1 metre per minute .

8)

a) Since AB = BC ,△ABC is an isosceles triangle .
Draw BP perpendicular to AC .
△ABP is a 30◦ − 60◦ − 90◦ triangle.
AP = 6

√
3cm , PC = 6

√
3cm

AC = 12
√
3cm.

b) PB = 6cm , △AQC is a 45◦ − 45◦ − 90◦ triangle. DC = 8cm DQ = 8√
2
cm

c) Area = 1
2 × 12

√
3× 6 + 1

2 × 12
√
3× (6 + 4

√
2, = 6

√
3(6 + 4

√
2) sq.cm

9) a) △CPB is a 30◦ − 60◦ − 90◦ triangle.Since BC = 12cm, PB = 6cm , PC = 6
√
3cm

b) PA× PB = PC2,
PA× 6 = (6

√
3)2

6× PA = 36× 3, PA = 18cm
c) Radius 12cm

1
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1) sinA = 0.8 ആയാൽ cosAഎɃ?

(a) 3
5 (b) 4

5 (c) 2
3 (d) 1

2

2) 10െസ.മീ വശ̮ч സമ̧ജɃിേകാണȮിെʾ ഉʭതി എɃ?

(a) 10
√
3 (b) 5

√
3 (c) 3

√
3 (d) 7

√
3

3) 12െസʾീമീѯർ വശȮിെʾ നീള̮ч സമ̧ജɃിേകാണȮിʎчി ഒͩ ചȪർ̧ജം നിറം െകാǮȮിരിŉʮ.വശƴൾ
̯ʭ് ȪലĿഭാഗƴളാňി Ńȯകളിǲ് േയാജിːിƹാണ് ചȪർ̧ജം വരƹിരിŉʭത്.

a) △QRC͆െട പരːളെവɃ?
b) △PBSെʾ പരːളെവɃ?
c) △APQെʾ പരːളെവɃ?പരːളെവɃ?
d)  നിറം െകാǮȮ ചȪർ̧ജȮിെʾ പരːളവ് പരːളെവɃ?

4) Oേകʣമായ ΘȮȮിെʾ ആരം 4െസʾീമീѯറാണ്. ∠PAB = 20◦



2 a) ɃിേകാണംPAB͆െട PBഎʭ വശȮിെʾ നീളെമɃ?
b) PAഎʭ വശȮിെʾ നീളെമɃ?
c) ɃിേകാണംPAB͆െട പരːളവ് കണňാŉക

5) ഒͩ ൈലѯ് ഹൗസിെʾ ̮കളിൽ നിʮം േനാŉʭ ഒരാൾ തീരേȮ്͍ അǮȯവͩʭ േബാǲിെന 30◦കീഴ്
േňാണിൽ കാȐʮ.6മിനിѯ് കഴിǫേːാൾ കീഴ് േňാൺ60◦ആയി.

a) ഏകേദശചിɃം വരŉക
b) േബാǲ് തീരെȮȮാൻ എɃ സമയം േവണം
c) േബാǲിെʾ േവഗത മണിŊറിൽ 25കിേലാമീѯർ ആയാൽ രȒാമെȮ ЍാനȮിനിʮം തീരേȮ͎ч

ɦരെമɃ?

6) 15മീѯർ ഉയര̮ч ഒͩ െകǲിടȮിെʾ ̮കളിൽ നിʮം േനാŉേ̵ാൾ വലിെയാͩ േഗാˁരȮിെʾ ̮കൾ
ഭാഗം 40◦േമൽേňാണിൽ കാȐʮ.െകǲിടȮിെʾ Ʒവǲിൽ നിʮം േനാŉേ̵ാൾ േഗാˁരȮിെʾ ̮കൾഭാഗം
70◦േമൽേňാണിൽ കാȐʮ.

a) ഈ ആശയം വĿŘമാŉʭ ചിɃം വരŉക
b) േഗാˁരȮിെʾ ഉയരം കണňാŉക
c) േഗാˁരΖം െകǲിടΖം ത̼ിͬч അകലെമɃ?

5) കടലിേല്͍ േപാŃʭ ഒͩ േബാǲിൽ നിʮം േനാŉʭ ഒരാൾ 100മീѯർ ഉയര̮ч ഒͩ ൈലѯ് ഹൗസിെʾ
̮കളѯം 60◦േമൽേňാണിൽ കȓ.2 മിനി്ѯ് കഴിǫേːാൾ േമൽേňാൺ45◦ആയി.

a) ഏകേദശചിɃം വരŉക
b) േനാŉʭ Ѝാനƴൾ ത̼ിͬч അകലെമɃ?
c) േബാǲിെʾ േവഗത കണňാŉക

8) ചിɃȮിൽ AB = BC = 12cm , ∠B = 120◦,∠ACD = 45◦, CD = 8cm

a) AC͆െട നീളെമɃ?
b) B യിൽ നിʮം D യിൽ നി്ʮം ACേലŉч ഉʭതി എɃ?
c) ABCD͆െട പരːളവ് എɃ?.

9) ചിɃȮിൽ ABഅർɮΘȮȮിെʾ വĿാസമാണ് . PC എʭത് ABേലŉч ഉʭതിയാണ് .
BC = 12cm , ∠PCB = 30◦ആയാൽ

a) PB, PCഎɃവീതമാണ്
b) AP͆െട നീളെമɃ



3c) അർɮΘȮȮിെʾ ആരം എɃ?.

Answers
1) 3

5

2) 5
√
3

3) a) △QRC ഒͩ സമ̧ജɃിേകാണം ,ലശം 4cm.ലംബം 2
√
3cm. AreaA1 =

1
2×4×2

√
3 = 4

√
3sq.cm

b) △PBS has two sides 8cm and 4cm, included angle 60◦.This is a 30◦ − 60◦ − 90◦ triangle.
PS = 4

√
3cm Area A2 =

1
2 × 4× 4

√
3 = 8

√
3sq.cm

c) △APQ is a 30◦ − 60◦ − 90◦ triangle. A3 =
1
2 × 4× 4

√
3 = 8

√
3 sq.cm

d) Altitude of △ABC is 6
√
3cm , Area 1

2 × 12× 6
√
3 = 36

√
3 sq.cm

Area of the shaded quadrilateral is 36
√
3− (8

√
3 + 8

√
3 + 4

√
3 = 16

√
3 sq.cm

4) a) AB വĿാസമാണ് .∠APB = 90◦.
sin 20◦ = PB

AB = PB
8

PB = 8× 0.34 = 2.72cm
b) cos 20◦ = PA

8
PA = 8× 0.93 = 7.44cm

c) പരːളവ് = 1
2 × PA× PB = 10.11 sq.cm

5) a) ചിɃം

b) △ABC is a 30◦ − 60◦ − 90◦ Ƀിേകാണം .IF AB = h,AC =
√
3h

△ABD is a 30◦ − 60◦ − 90◦ Ƀിേകാണം .AD = h√
3

CD = AC −AD =
√
3h− h√

3
= 2h√

3
AD : CD = 1 : 2
േബാǲ് 6 മിനിѯ് െകാȒ് Cയിൽ നിʮം Dയിെലȯം .അȪെകാȒ് 3മിനിѯ് െകാȒ് തീരȮ്
എȯം

c) If the speed 25 km per hour, , CD = speed × time . That is CD = 25× 6
60 = 2.5km.

The diatance from A to D is 1.25km

6) a) ചിɃം



4 b) Let AC = y ,DE = x
tan 40◦ = x

y
0.83 = x

y , x = 0.83y

tan 70 = x+15
y , 2.7 = x+15

y = 0.83y+15
y

2.7y = 0.83y + 15, 2.7y − 0.83y = 15, 1.8y = 15, y = 8.02m,x = 0.83y = 6.65m. ഉയരം
= 6.65 + 15 = 21.65m

c) ɦരം = 8.02m

7) a) Diagram

b) △ABD is a 45◦ − 45◦ − 90◦ Ƀിേകാണം . AD = 100m
△ABC is a 30◦ − 60◦ = 90◦ triangle. AC = 100√

3
= 57.80m

CD = 100− 57.80 = 42.2m
c) േവഗത = ɦരം ÷ സമയം = 42.2÷ 2 = 21.1 .

8)

a) AB = BC ,△ABCസമപാർശłɃിേകാണം .
BPഎʭ വര ACň് ലംബമാണ് .
△ABP is a 30◦ − 60◦ − 90◦ Ƀിേകാണം .
AP = 6

√
3െസ.മീ , PC = 6

√
3cm

AC = 12
√
3െസ.മീ.

b) PB = 6െസ,മീ , △AQC is a 45◦ − 45◦ − 90◦ Ƀിേകാണം . DC = 8cm DQ = 8√
2
െസ.മീ

c) പരːളവ് = 1
2 × 12

√
3× 6 + 1

2 × 12
√
3× (6 + 4

√
2, = 6

√
3(6 + 4

√
2) sq.cm

9) a) △CPB is a 30◦ − 60◦ − 90◦ Ƀിേകാണം . BC = 12cm, PB = 6cm , PC = 6
√
3െസ.മീ

b) PA× PB = PC2,
PA× 6 = (6

√
3)2

6× PA = 36× 3, PA = 18െസ.മീ
c) ആരം 12െസ.മീ
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1) Sum of a number and its reciprocal is 26
5 .The number is

(a) 5 (b) 1 (c) 2 (d) 6

2) Solutions of the equation (x− 1)2 = 100 are

(a) 9,−10 (b) 10,−9 (c) 10,−10 (d) 11,−10

3) A small square is drawn inside a big square as shown in the figure.
The space between the squares is 2 and area of the inner square is 81

a) If the side of the outer square is x then write an equation.
b) Find the side of the outer square.

4) One side of a rectangle is 4 more than the other side.Area of the rectangle is 140 sq.cm

a) If the small side is x then write the equation.
b) Find the sides of the rectangle.

5) Two chords of a circle intersect at a point inside the circle.The intersecting point divides one chords into
the segments of length 9cm and 4cm.The length of other chord is 15cm

a) If one segment of the second chord of length 15 cm is x then what is the length of the other
segment?

b) Form a second degree equation connecting length of the segments
c) Find the length of the segments on either side of the intersecting point on the second chord.

6) Sum of the area of two squares is 80.The sum of its perimetres is 48.

a) If the sides are x and y then what is x+ y?
b) Form an equation representing the sum of the areas
c) Find the side of the the squares.

7) The perpendicular sides of a right triangle differ by 2. Area of the triangle is 24



2 a) Form an equation on x connecting the sides and area ?

b) Find the sides of the triangle

8) Manju’s age after 15 years will be the square of his age before 15 years.

a) If the present age is x then what is the age before and after 15 years.

b) Write the equation connecting the given conditions.

c) Find the present age

9) Sum of the squares of three consecutive integers is 14. If the middle number is x then

a) What are the other numbers?

b) Form an equation

c) Find the numbers.

10) A,B,C,D are the numbers on a calendar page as given below

a) If A = x write B,C and D

b) If A× C = 48 then form an equation

c) Find x

d) Find B,C and D

e) Can A+B + C +D = 25in any squares in the calendar? Justify your answer

Answers
1) 5

2) 10,−9

3) a) (x− 4)2 = 81

b) x− 4 = 9,−9
x− 4 = 9, x = 13
Side of the outer square is 13cm

4) a) x+ 4

b) x(x+ 4) = 140
x2 + 4x = 144, x2 + 4x+ 4 = 144, (x+ 4)2 = 144, x+ 2 = 12, x = 10
Sides are 10cm and 14cm

5) a) 15− x

b) x(15− x) = 9× 4, −x2 + 15x = 36, x2 − 15x = −36

c) Solving x = 12.Length of the segments are 12, 3

6) a) Sides are x and y. 4x+ 4y = 48, x+ y = 12



3b) Sides are x and 12− x
x2 + (12− x)2 = 80
x2 + 144− 24x+ x2 = 80
2x2 − 24x = −64, x2 − 12x = −32

c) x2 − 12x+ 36 = −32 + 36, (x− 6)2 = 4, x− 6 = 2, x = 8
Sides are 8, 4

7) a) Perpendicular sides are x and x+ 2
1
2 × x(x+ 2) = 24, x2 + 2x = 48, x2 + 2x+ 1 = 49

b) (x+ 1)2 = 49, x+ 1 = 7, x = 6
Perpendicular sides are 6 and 8. Hypotenuse is

√
62 + 82 = 10

8) a) x− 15 and x+ 15

b) (x− 15)2 = (x+ 15), x2 − 30x+ 225 = x+ 15, x2 − 31x+ 210 = 0

c) Solving x = 21 . Present age is 21 years

9) a) x− 1, x+ 1

b) (x− 1)2 + x2 + (x+ 1)2 = 14
3x2 + 2 = 14, 3x2 = 12, x2 = 4, x = 2

c) Numbers are 1, 2, 3

10) a) B = x+ 1, C = x+ 8, D = x+ 7

b) x(x+ 8) = 48, x2 + 8x = 48

c) (x+ 4)2 = 64, x+ 4 = 8, x = 4

d) Numbers are A = 4, B = 5, C = 12, D = 11

e) No .A+B + C +Dalways a multiple of 4.
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1) ഒͩ സംഖĿ͆െട͆ം അതിെʾ വŀൽŦമȮിെʾ͆ം Ȫക 26
5 ആണ് .സംഖĿ ഏത് ?

(a) 5 (b) 1 (c) 2 (d) 6

2) (x− 1)2 = 100 എʭ സമവാകĿȮിെʾ പരിഹാരം

(a) 9,−10 (b) 10,−9 (c) 10,−10 (d) 11,−10

3) ഒͩ വലിയ സമചȪരȮിʎчിൽ ഒͩ െചറിയ സമചȪരം വരƹിരിŉʮ.രȒിʎം ഇടയിെല ഭാഗȮിെʾ
വീതി2െസ.മീ ആണ് . അകെȮ െചറിയ സമചȪരȮിെʾ പരːളവ് 81ചȪരδെസʾമീѯറാണ്

a) ˁറെȮ ചȪരȮിെʾ വശം xആയാൽ സമവാകĿം ͪപീകരിŉക.

b) ˁറെȮ സമചȪരȮിെʾ വശം കണňാŉക.

4) ഒͩ ചȪരȮിെʾ ഒͩ വശം മേѯ വശേȮňാൾ 4ńǮതലാണ് .പരːളവ് 140ചȪരδെസ.മീ

a) െചറിയ വശംxആയാൽ സമവാകĿം ͪപീകരിŉക

b) ചȪരȮിെʾ വശƴൾ കണňാŉക

5) രȒ് ഞാȐകൾ ΘȮȮിʎчിൽ ഖșിŉʮ.ഒͩ ഞാൺ 9െസമീ ,4െസ.മീ എʭീ അളവിൽ ഭാഗിŉʮ.മേѯ
ഞാണിെʾ നീളം 15െസ.മീ

a) 15 െസ.മീ നീള̮ч ഞാണിെʾ ഒͩ ഭാഗം xആയാൽ മേѯ ഭാഗȮിെʾ നീളെമɃ?

b) ഞാണിെʾ ഭാഗƴെള ബʦിːിƹ് സമവാകĿം ͪപീകരിŉക

c) ഞാൺ ഭാഗƴхെട നീളം കണňാŉക.

6) രȒ് സമചȪരƴхെട പരːളΖകхെട Ȫക 80.ƷѯളΖകхെട Ȫക 48.

a) സമചȪരƴхെട വശം x , y വീതആയാൽ x+ yഎɃ?

b) സമവാകĿം ͪപീകരിŉക

c) വശƴхെട നീളം കണňാŉക.

7) മǲɃിേകാണȮിെʾ ലംബവശƴൾ ത̼ിͬч വĿതĿാസം 2. ɃിേകാണȮിെʾ പരːളവ് 24



2 a) വശƴെള പരːളΖമായി ബʦിːിƹ് സമവാകĿം എъȪക ?
b) വശƴхെട നീളം കണňാŉക.

8) 15വർഷȮിന് േശഷം മǩവിെʾ ˗ായം 15വർഷȮിന് ̮ൻˁȒായിͩʭ ˗ായȮിെʾ വർƅമായിരിŉം.

a) ഇേːാഴെȮ ˗ായം x ആയാൽ പതിനǠ് വർഷȮിന് ̮ൻˁം പതിനǠ് വർഷȮിന് േശഷΖ̮ч
˗ായം എɃ?

b) സമവാകĿം ͪപീകരിŉക.
c) ഇേːാഴെȮ ˗ായം കണňാŉക

9) Ȫടർƹയായ ̯ʭ് എȤൽസംഖĿകхെട വർƅƴхെട Ȫക 14ആണ് . നǮവിെല സംഖĿ x ആയാൽ

a) മѯ് സംഖĿകൾ ഏെതΓാം?
b) സമവാകĿം എъȪക
c) സംഖĿകൾ ഏെതΓാം.

10) A,B,C,D എʭിവ കലȒറിെല സംഖĿകളാണ്

a) A = x ആയാൽ B,C , D എъȪക
b) A× C = 48 സമവാകĿം എъȪക
c) x കണňാŉക
d) B,C , Dകണňാŉക
e) A+B + C +D = 25 ആŃേമാ? എƴെന മനസിലാňാം?

Answers
1) 5

2) 10,−9

3) a) (x− 4)2 = 81

b) x− 4 = 9,−9
x− 4 = 9, x = 13
ˁറെȮ സമചȪരȮിെʾ വശം 13cm

4) a) x+ 4

b) x(x+ 4) = 140
x2 + 4x = 144, x2 + 4x+ 4 = 144, (x+ 4)2 = 144, x+ 2 = 12, x = 10
Sides are 10cm and 14cm

5) a) 15− x

b) x(15− x) = 9× 4, −x2 + 15x = 36, x2 − 15x = −36

c) x = 12.നീളƴൾ 12, 3

6) a) വശƴൾ x , y. 4x+ 4y = 48, x+ y = 12



3b) വശƴൾ x , 12− x
x2 + (12− x)2 = 80
x2 + 144− 24x+ x2 = 80
2x2 − 24x = −64, x2 − 12x = −32

c) x2 − 12x+ 36 = −32 + 36, (x− 6)2 = 4, x− 6 = 2, x = 8
Sides are 8, 4

7) a) ലംബവശƴൾ x and x+ 2
1
2 × x(x+ 2) = 24, x2 + 2x = 48, x2 + 2x+ 1 = 49

b) (x+ 1)2 = 49, x+ 1 = 7, x = 6
ലംബവശƴൾ 6 and 8. കർȤം

√
62 + 82 = 10

8) a) x− 15 , x+ 15

b) (x− 15)2 = (x+ 15), x2 − 30x+ 225 = x+ 15, x2 − 31x+ 210 = 0

c) x = 21 . ഇേːാഴെȮ ˗ായം 21

9) a) x− 1, x+ 1

b) (x− 1)2 + x2 + (x+ 1)2 = 14
3x2 + 2 = 14, 3x2 = 12, x2 = 4, x = 2

c) സംഖĿകൾ 1, 2, 3

10) a) B = x+ 1, C = x+ 8, D = x+ 7

b) x(x+ 8) = 48, x2 + 8x = 48

c) (x+ 4)2 = 64, x+ 4 = 8, x = 4

d) സംഖĿകൾ A = 4, B = 5, C = 12, D = 11

e) അΓ .A+B + C +Dഎʭത് 4 െʾ Ɓണിതമായിരിŉം
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1) Sum of a number and its square is 30. Which of the following is the number?

(a) −5 (b) 1 (c) 2 (d) −6

2) x+
√
x = 6 in the form ax2 + bx+ c = 0 is

(a) x2+12x+6 = 0 (b) x2−13x+36 = 0 (c) x2−10x−12 = 0 (d) x2+13x−36 = 0

3) Sum of the areas of two squares is 130. Side of one square is 2 more than the side of the other square
.

a) If the side of the small square is x then what is the side of the big square ?

b) Form a second degree equation using the condition.

4) The product of two consecutive even numbers is 360

a) If the odd number in between these numbers is x then write the numbers .

b) Form an equation using the given condition.

c) Find the numbers.

5) Consider the arithmetic sequence 5, 9, 13, 17, 21 · · · .

a) Write the algebraic form of this sequence.

b) What is the position of the term in the sequence whose square is 625?

c) Is 36 a term of this sequence . How can you realize it ?

d) What is the position of 49in this sequence ?

6) Hypotenuse of a right angled triangle is 1 less than twice its small side.Third side is 1 more than its small
side

a) If the small side is x what is the length of other two sides .

b) Form an equation connecting the length of the sides .

c) Calculate the length of the sides of the triangle.

7) Length of a rectangle is 4 more than its breadth .Area of the rectangle is 357 sq.cm

a) If the breadth is x then what is its length?

b) Write an equation connecting length , breadth and area

c) Find the lenghth and breadth of the rectangle .



2 8) Sum of the areas of two squares is 468sq.cm.The difference between the perimetres is 24cm.

a) If the small side is x then what is the length of the big side ?
b) What is the perimetre of the gig square?
c) Write the length of the sides the squares in x

d) Form a second degree equation and find the length of the small square.
e) Find the length of the big square.

9) Hypotenuse of a right angled triangle is 1 less than twice its small side.Third side is 1 more than its small
side

a) If the small side is x what is the length of other two sides .
b) Form an equation connecting the length of the sides .
c) Calculate the length of the sides of the triangle.

10) A two digit number is 4 times the sum of the digits.Also the number is 3 times the product of the digits.

a) Form an equation by taking x, y as the digits.
b) Make a second degree equation using the given condition.
c) Find the numbers.

Answers
1) −6

2) x2 − 13x+ 36 = 0

3) a) Side of the big square is x+ 2

b) x2 + (x+ 2)2 = 130
x2 + x2 + 4x+ 4 = 130, 2x2 + 4x+ 4− 130 = 0, 2x2 + 4x− 126 = 0

4) a) Numbers are x− 1, x+ 1

b) (x− 1)(x+ 1) = 360,x2 − 1 = 360

c) x2 = 361, x =
√
361 = 19. Numbers 19− 1 = 18, 19 + 1 = 20

5) a) xn = dn+ (f − d) = 4n+ (5− 4) = 4n+ 1

b) (4n+ 1)2 = 625,4n+ 1 =
√
625 = 25, 4n = 24, n = 6

c) All terms are odd numbers . The even number 36cannot be a term of this sequence
d) 4n+ 1 = 49, 4n = 48, n = 12.

12 th term is 49

6) a) Hypotenuse = 2x− 1, Third side = x+ 1

b) (2x− 1)2 = x2 + (x+ 1)2, 4x2 − 4x+ 1 = x2 + x2 + 2x+ 1
2x2 − 6x = 0

c) x = 3.Sides are :
Hypotenuse2x− 1 = 6− 1 = 5cm.
Other two sides are 3cm ,4cm.

7) a) Length x+ 4

b) x(x+ 4) = 357, x2 + 4x = 357

c) x2 + 4x+ 4 = 357 + 4 = 361,(x+ 2)2 = 361,x+ 2 =
√
361 = 19, x = 19− 2 = 17

d) Breadth 17cm ,length 17 + 4 = 21cm



38) a) 4x

b) 4x+ 24

c) Side of the small square is x, Side of the big square is4x+24
4 = x+ 6

d) x2 + (x+ 6)2 = 468, x2 + x2 + 12x+ 36 = 468,2x2 + 12x = 432
x2 + 6x = 216, x2 + 6x+ 9 = 225, (x+ 3)2 = 225
(x+ 3) = 15, x = 12
Side of the small square is 12cm

e) Side of the big square is 12 + 6 = 18cm

9) a) Hypotenuse = 2x− 1, Third side = x+ 1

b) (2x− 1)2 = x2 + (x+ 1)2, 4x2 − 4x+ 1 = x2 + x2 + 2x+ 1
2x2 − 6x = 0

c) x = 3.Sides are :
Hypotenuse2x− 1 = 6− 1 = 5cm.
Other two sides are 3cm ,4cm.

10) a) Digit in tens place x, digit in one’s place y
Number is 10x+ y

10x+ y = 4(x+ y) (1)

10x+ y = 3xy (2)

b) 10x+ y = 4x+ 4y, 6x = 3y, y = 2x
10x+ y = 3xy → 10x+ 2x = 3x× 2x
12x = 6x2

c) x = 0, x = 2. Tens palce cannot be 0 . Tens place = 2, one’s place 2x = 4
Number = 24
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1) ഒͩ സംഖĿ͆െട͆ം അതിെʾ വർƅȮിെʾ͆ം Ȫക 30ആണ് . സംഖĿ ഏത് ?

(a) −5 (b) 1 (c) 2 (d) −6

2) x+
√
x = 6 എʭത് ax2 + bx+ c = 0 എʭ ͪപȮിൽ എъതിയാൽ

(a) x2+12x+6 = 0 (b) x2−13x+36 = 0 (c) x2−10x−12 = 0 (d) x2+13x−36 = 0

3) രȒ് സമചȪരƴхെട പരːളΖകхെട Ȫക 130. ഒͩ സമചȪരȮിെʾ വശം മേѯ സമചȪരȮിെʾ വശേȮňാൾ
2 ńǮതലാണ് .

a) െചറിയ സമചȪരȮിെʾ വശം xആയാൽ വͬതിെʾ വശം ഏത് ?

b) സമവാകĿം ͪപീകരിŉക.

4) Ȫടർƹയായ രȒ് ഇരǲസംഖĿകхെട Ɓണനഫലം 360ആണ്

a) ഇട͍ч ഒѯസംഖĿ xആയാൽ ഇരǲസംഖĿകൾ ഏെതΓാം .

b) സമവാകĿം എъȪക.

c) സംഖĿകൾ ഏെതΓാം.

5) 5, 9, 13, 17, 21 · · ·എʭ സമാʒരേδണി പരിഗണിŉക.

a) േδണി͆െട ബീജഗണിതͪപം എъȪക.

b) എɃാമെȮ പദȮിെʾ വർƅമാണ് 625?

c) 36 ഈ േδണി͆െട പദമാേണാ? എƴെന മനസിലാňാം ?

d) 49ഈ േδണി͆െട എɃാമെȮ പദമാണ് ?

6) മǲɃിേകാണȮിെʾ കർȤം ഏѯΖം െചറിയ വശȮിെʾ രȒ് മടƴിേനňാൾ 1Ńറവാണ് ̯ʭാമെȮ
വശം ഏѯΖം െചറിയ വശേȮňാൾ 1 ńǮതലാണ് ..

a) ഏѯΖം െചറിയ വശം xആയാൽ മѯ് രȒ് വശƴൾ എъȪക .

b) വശƴെള ത̼ിൽ ബʦിːിŉʭ സമവാകĿം എъȪക.

c) വശƴхെട നീളം കണňാŉക.

7) ഒͩ ചȪരȮിെʾ ഒͩ വശം മേѯ വശേȮňാൾ 4ńǮതലാണ് .പരːളവ് 357 ചȪരδെസമീ

a) െചറിയ വശം x ആയാൽ വലിയ വശം എɃ?

b) വശƴെള͆ം പരːളവിെന͆ം ബʦിːിŉʭ സമവാകĿം എъȪക

c) വശƴൾ കണňാŉക .



2 8) രȒ് സമചȪരƴхെട പരːളΖകхെട Ȫക 468 ചȪരδെസമീ, ƷѯളΖകхെട വĿതĿാസം 24െ◌സ.മീ.

a) ഒͩ വശം x ആയാൽ മേѯ വശം എɃ?
b) വലിയ സമചȪകȮിെʾ Ʒѯളവ് എɃ?
c) സമചȪരȮിെʾ വശƴൾ xൽ എъȪക
d) സമവാകĿം ͪപീകരിŉക.
e) വലിയ സമചȪരȮിെʾ വശം എɃ.

9) മǲɃിേകാണȮിെʾ കർȤം ഏѯΖം െചറിയ വശȮിെʾ രȒ്മടƴിേനňാൾ 1Ńറവാണ് . ̯ʭാമെȮ
വശം ഏѯΖം െചറിയ വശേȮňാ1ńǮതലാണ് .

a) ഏѯΖം െചറിയ വശം xആയാൽ മѯ് രȒ് വശƴхം എъȪക .
b) വസƴхെട നീളƴെള ബʦിːിŉʭ സമവാകĿം എъȪക .
c) വശƴൾ കണňാŉക.

10) രȒňസംഖĿ അňȯക͆െട നാല് മടƴാണ് .സംഖĿ അňƴхെട ƁണനഫലȮിെʾ ̯ʭ് മടƴാണ്

a) x, y അňƴളായി കണňാňി സംഖĿ എъȪക.
b) സമവാകĿം ͪപീകരിŉക.
c) സംഖĿ എъȪക.

Answers
1) −6

2) x2 − 13x+ 36 = 0

3) a) വലിയ സമചȪരȮിെʾ വശം x+ 2

b) x2 + (x+ 2)2 = 130
x2 + x2 + 4x+ 4 = 130, 2x2 + 4x+ 4− 130 = 0, 2x2 + 4x− 126 = 0

4) a) Numbers are x− 1, x+ 1

b) (x− 1)(x+ 1) = 360,x2 − 1 = 360

c) x2 = 361, x =
√
361 = 19. Numbers 19− 1 = 18, 19 + 1 = 20

5) a) xn = dn+ (f − d) = 4n+ (5− 4) = 4n+ 1

b) (4n+ 1)2 = 625,4n+ 1 =
√
625 = 25, 4n = 24, n = 6

c) എΓാം ഒѯസംഖĿകളാണ് . 36ഈ േδണി͆െട പദം ആŃʭിΓ
d) 4n+ 1 = 49, 4n = 48, n = 12.

12 മെȮ പദമാണ് 49

6) a) കർȤം = 2x− 1, ̯ʭാമെȮ വശം = x+ 1

b) (2x− 1)2 = x2 + (x+ 1)2, 4x2 − 4x+ 1 = x2 + x2 + 2x+ 1
2x2 − 6x = 0

c) x = 3.വശƴൾ :
കർȤം 2x− 1 = 6− 1 = 5cm.
മѯ് രȒ് വശƴൾ 3cm ,4cm.

7) a) നീളം x+ 4

b) x(x+ 4) = 357, x2 + 4x = 357

c) x2 + 4x+ 4 = 357 + 4 = 361,(x+ 2)2 = 361,x+ 2 =
√
361 = 19, x = 19− 2 = 17

d) വീതി 17cm ,നീളം 17 + 4 = 21cm



38) a) 4x

b) 4x+ 24

c) െചറിയ സമചȪരȮിെʾ വശം x, വലിയ സമചȪരȮിെʾ വശം 4x+24
4 = x+ 6

d) x2 + (x+ 6)2 = 468, x2 + x2 + 12x+ 36 = 468,2x2 + 12x = 432
x2 + 6x = 216, x2 + 6x+ 9 = 225, (x+ 3)2 = 225
(x+ 3) = 15, x = 12
െചറിയസമചȪരȮിെʾ വശം 12cm

e) വͬതിെʾ വശം 12 + 6 = 18cm

9) a) കർȤം = 2x− 1,̯ʭാമെȮ വശം = x+ 1

b) (2x− 1)2 = x2 + (x+ 1)2, 4x2 − 4x+ 1 = x2 + x2 + 2x+ 1
2x2 − 6x = 0

c) x = 3.വശƴൾ :
കർȤം 2x− 1 = 6− 1 = 5cm.
മѯ് രȒ് വശƴൾ 3cm ,4cm.

10) a) പȮിെʾ Ѝാനം x, ഒѯ͆െട Ѝാനം y
സംഖĿ 10x+ y

10x+ y = 4(x+ y) (1)

10x+ y = 3xy (2)

b) 10x+ y = 4x+ 4y, 6x = 3y, y = 2x
10x+ y = 3xy → 10x+ 2x = 3x× 2x
12x = 6x2

c) x = 0, x = 2. പȮിെʾ Ѝാനം 0ആŃʭിΓ . പȮിെʾ Ѝാനം = 2, ഒѯ͆െട Ѝാനം 2x = 4
സംഖĿ = 24
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1) Number of diagonals in a polygon of 10 sides is

(a) 35 (b) 12 (c) 25 (d) 20

2) If x2 = 9 then the difference between the solutions is

(a) 3 (b) 10 (c) 6 (d) 0

3) Length of a rectangle is 8 more then its breadth.

a) If the breadth is x then what is its length?

b) If the area is 240 sq.cm form a second degree equation.

c) Calculate the lenght and breadth

4) Consider the sequence of even numbers 2, 4, 6, 8 · · · .

a) What is its algebraic form?

b) How many terms from the beginning in the order makes the sum 210?

5) The sum of the squares of two consecutive natural numbers is313.

a) If one number is x then what is the other?

b) Form an equation using this condition.

c) Find the numbers .

6) The sum of two numbers is 15. The sum of its reciprocals is 3
10 .

a) If one number is x then what is the other?

b) Form an equation.

c) Find the numbers.

7) The sum of the first n terms of the arithmetic sequence 7, 9, 11, 13 · · · is 40.

a) Form a second degree equation using this condition.

b) How many terms make the sum 40 ?

c) Find n in another method .



2 8) In traingle ABC , AB = AC
AD is the perpendicular from A to BD. This perpendicular distance from A to BC is 2 cm more than

BC . Area of the triangle is 60 sq.cm

a) If BC = x then what is the langth AD?

b) Form an equation connecting the lengths BC,AD and area of the rectangle

c) Find the length of BC .

d) What is the lenghth of AD?

9) The smallest side of a right angled triangle is 4 less than its hypotenuse.Third side is 2 more than the
smallest side.

a) If the smallest side is x what are the other two sides.

b) Write an equation connecting the length of the sides .

c) What is the length of the smallest side?

d) Find the length of other sides of the triangle.

10) In the figure AB is the diametre of the semicircle. AB is perpendicular to PC .Also,AP = BP + 5,
PC = 6.

a) Write the relation between the lenghts PA,PB and PC

b) If PB = x then write an equation connecting the lenghts PA,PB and PC

c) What is the length of PB?

d) What is the radius of this circle?

Answers
1) 35

2) 6

3) a) Length= x+ 8

b) x(x+ 8) = 240, x2 + 8x = 240



3c) Add (82)
2 on both sides. It is 16

x2 + 8x+ 16 = 240 + 16
(x+ 4)2 = 256, x+ 4 =

√
256 = 16, x = 16− 4 = 12

Breadth 12 cm,Length 12 + 8 = 20cm

4) a) xn = 2n

b) n(n+ 1) = 210, n2 + n = 210
n2 + n+ 1

4 = 210 + 1
4

(n+ 1
2)

2 = 841
4

n+ 1
2 =

√
841
4 = 29

2

n = 29
2 − 1

2 = 14
The sum of the first 14 even numbers is 210

5) a) x+ 1

b) x2 + (x+ 1)2 = 313
x2 + x2 + 2x+ 1 = 313
2x2 + 2x− 312 = 0
x2 + x− 156 = 0

c) x = −b±
√
b2−4ac
2a

x = −1±
√
12−4×1×−156

2×1

x = −1±
√
1+624
2

x = −1±25
2 x = 12,−13, Numbers are 12, 13

6) a) 15− x

b) 1
x + 1

15−x = 3
10

15−x+x
x(15−x) =

3
10

150 = 45x− 3x2

x2 − 15x+ 50 = 0

c) x = −b±
√
b2−4ac
2a

x =
−(−15)±

√
(−15)2−4×1×50

2×1
x = 10, 5
Numbers are 10, 5.

7) a) Algebraic form of the sequence is 2n+ 5
The sum of the first n terms is 40 .
(7 + 2n+ 5)× n

2 = 40
n2 + 6n = 40, n2 + 6n− 40 = 0,

b) n = −b±
√
b2−4ac
2a

n = −6±
√
62−4×1×−40
2×1

x = −6±
√
196

2
n = 4
Sum of the first 4terms is 40

c) The sum of the first 7 odd numbers is = 72 = 49.40 is obtained on subtracting the sum of first
three odds from 49. The number of remaining numbers is 4.

8) a) AD = x+ 2

b) 1
2 × x× (x+ 2) = 60
x(x+ 2) = 120, x2 + 2x = 120

c) x2 + 2x+ 1 = 121, (x+ 1)2 = 121, (x+ 1) =
√
121 = 11, x = 11− 1 = 10cm



4 d) AD = 10 + 2 = 12

9) a) If the smallest side is x then hypotenuse is = x+ 4, third side is x+ 2

b) (x+ 4)2 = (x+ 2)2 + x2, x2 + 8x+ 16 = x2 + 4x+ 4 + x2

x2 − 4x− 12 = 0

c) x2 − 4x = 12, x2 − 4x+ 4 = 12 + 4
(x− 2)2 = 16, x− 2 = 4, x = 6
Smallest side is 6

d) Sides are 6, 8, 10

10) a) PA× PB = PC2

b) (x+ 5)× x = 62, x2 + 5x = 36
x2 + 5x+ (52)

2 = 36 + (52)
2

(x+ 5
2)

2 = 36 + 25
4

(x+ 5
2)

2 = 169
4

(x+ 5
2) =

√
169
4 = 13

2

x = 13
2 − 5

2 = 4

c) PB = 4
AP = 4 + 5 = 9, AB = 9 + 4 = 13
Radius = 6.5cm
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1) 10വശƴхч ബе̧ജȮിെʾ വികർȤƴхെട എȤം

(a) 35 (b) 12 (c) 25 (d) 20

2) x2 = 9 ആയാൽ പരിഹാരƴൾ ത̼ിͬч വĿതĿാസം

(a) 3 (b) 10 (c) 6 (d) 0

3) ഒͩ ചȪരȮിെʾ ഒͩ വശം മേѯ വശേȮňാൾ 8 ńǮതലാണ്

a) ഒͩ വശം xആയാൽ മേѯ വശം എɃ?

b) പരːളവ് 240 ആയാൽ സമവാകĿം എъȪക

c) വശƴൾ കണňാŉക

4) 2, 4, 6, 8 · · ·എʭ ഇരǲസംഖĿാേδണി പരിഗണിŉക.

a) േδണി͆െട ബീജഗണിതം എъȪക?

b) ആദĿെȮ എɃ പദƴхെട Ȫകയാണ് 210?

5) Ȫടർƹയായ രȒ് എȤൽ സംഖĿകхെട വർƅƴхെട Ȫക 313 ആണ്

a) ഒͩ സംഖĿ x ആയാൽ മേѯ സംഖĿ എɃ?

b) സമവാകĿം ͪപീകരിŉക.

c) സംഖĿകൾ കണňാŉക .

6) രȒ് സംഖĿകхെട Ȫക 15. വŀൽŦമƴхെട Ȫക 3
10 .

a) ഒͩ സംഖĿ xആയാൽ മേѯ സംഖĿ ഏത് ?

b) സമവാകĿം എъȪക.

c) സംഖĿകൾ കണňാŉക.

7) 7, 9, 11, 13 · · · എʭ സമാʒരേδണി͆െട ആദĿെȮ nപദƴхെട Ȫക 40.

a) സമവാകĿം ͪപീകരിŉക.

b) ആദĿെȮ എɃ പദƴхെട Ȫകയാണ് 40 ?

c) മെѯാͩ രീതിയിൽ n കണňാŉക.



2 8) Ƀിേകാണം ABCയിൽ , AB = AC
A യിൽ നിʮം BCേല͍ч ഉʭതിയാണ് AD. ഉʭതി വശേȮňാൾ 2ńǮതലാണ് . പരːളവ 60

ചȪരδെസ.മീ ആണ്

a) BC = x ആയാൽ ADഎɃ?

b) BC,AD , പരːളവ് എʭിവ ബʦിŉʭ സമവാകĿം എъȪക

c) BCഎɃ.

d) ADഎɃ?

9) ഒͩ മǲɃിേകാണȮിെʾ െചറിയവശം കർȤേȮňാൾ 4Ńറവാണ് .̯ʭാമെȮ വശം െചറിയ വശേȮňാൾ2
ńǮതലാണ് .

a) ഏѯΖം െചറിയ വശം xആയാൽ മѯ് രȒ് വശƴൾ എъȪക.

b) സമവാകĿം ͪപീകരിŉക

c) െചറിയ വശȮിെʾ നീളം കണňാŉക?

d) മѯ് രȒ് വശƴхെട നീളം കണňാŉക.

10) ചിɃȮിൽ AB അർɮΘȮȮിെʾ വĿാസമാണ് . AB എʭത് PC്͍ ലംബമാണ് .AP = BP + 5,
PC = 6.

a) PA,PB , PCഎʭിവ ത̼ിͬч ബʦം എъȪക

b) PB = x ആയാൽ സമവാകĿം ͪപീകരിŉക

c) PB͆െട നീളെമɃ?

d) ΘȮȮിെʾ ആരം കണňാŉക?

Answers
1) 35

2) 6

3) a) നീളം = x+ 8

b) x(x+ 8) = 240, x2 + 8x = 240



3c) ഇͩവശȯം (82)
2 ńǳക . 16

x2 + 8x+ 16 = 240 + 16
(x+ 4)2 = 256, x+ 4 =

√
256 = 16, x = 16− 4 = 12

വീതി 12 cm,നീളം 12 + 8 = 20cm

4) a) xn = 2n

b) n(n+ 1) = 210, n2 + n = 210
n2 + n+ 1

4 = 210 + 1
4

(n+ 1
2)

2 = 841
4

n+ 1
2 =

√
841
4 = 29

2

n = 29
2 − 1

2 = 14
ആദĿെȮ 14 ഇരǲസംഖĿകхെട Ȫകയാണ് 210

5) a) x+ 1

b) x2 + (x+ 1)2 = 313
x2 + x2 + 2x+ 1 = 313
2x2 + 2x− 312 = 0
x2 + x− 156 = 0

c) x = −b±
√
b2−4ac
2a

x = −1±
√
12−4×1×−156

2×1

x = −1±
√
1+624
2

x = −1±25
2 x = 12,−13, സംഖĿകൾ 12, 13

6) a) 15− x

b) 1
x + 1

15−x = 3
10

15−x+x
x(15−x) =

3
10

150 = 45x− 3x2

x2 − 15x+ 50 = 0

c) x = −b±
√
b2−4ac
2a

x =
−(−15)±

√
(−15)2−4×1×50

2×1
x = 10, 5
സംഖĿകൾ 10, 5.

7) a) ബീജഗണിതͪപം 2n+ 5
ആദĿെȮ n പദƴхെട Ȫക 40 .
(7 + 2n+ 5)× n

2 = 40
n2 + 6n = 40, n2 + 6n− 40 = 0,

b) n = −b±
√
b2−4ac
2a

n = −6±
√
62−4×1×−40
2×1

x = −6±
√
196

2
n = 4
ആദĿെȮ 4പദƴхെട Ȫകയാണ് 40

c) ആദĿെȮ 7 ഒѯസംഖĿകхെട Ȫക= 72 = 49.40കിǳʭതിന് 49ൽ നിʭ് ആദĿെȮ 3ഒѯസംഖĿകхെട
Ȫക Ńറňണ് . ആദĿെȮ 4 പദƴхെട Ȫകയാണ് .

8) a) AD = x+ 2

b) 1
2 × x× (x+ 2) = 60
x(x+ 2) = 120, x2 + 2x = 120

c) x2 + 2x+ 1 = 121, (x+ 1)2 = 121, (x+ 1) =
√
121 = 11, x = 11− 1 = 10cm



4 d) AD = 10 + 2 = 12

9) a) െചറിയ വശം x , കർȤം = x+ 4, ̯ʭാമെȮ വശം x+ 2

b) (x+ 4)2 = (x+ 2)2 + x2, x2 + 8x+ 16 = x2 + 4x+ 4 + x2

x2 − 4x− 12 = 0

c) x2 − 4x = 12, x2 − 4x+ 4 = 12 + 4
(x− 2)2 = 16, x− 2 = 4, x = 6
Smallest side is 6

d) വശƴൾ 6, 8, 10

10) a) PA× PB = PC2

b) (x+ 5)× x = 62, x2 + 5x = 36
x2 + 5x+ (52)

2 = 36 + (52)
2

(x+ 5
2)

2 = 36 + 25
4

(x+ 5
2)

2 = 169
4

(x+ 5
2) =

√
169
4 = 13

2

x = 13
2 − 5

2 = 4

c) PB = 4
AP = 4 + 5 = 9, AB = 9 + 4 = 13
ആരം = 6.5cm
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